
Ročník: nultý
Dátum: 08.06. 2020
1. Vypočítaj:
3 + 1 =                    2 + 3 =                   4 – 1 =                   5 – 3 = 
2 + 2 =                    1 + 2 =                   3 – 1 =                   2 – 1 =
4 + 1 =                    2 + 1 =                   5 – 4 =                   4 – 3 =    

2. Skontroluj. Nesprávne výsledky oprav:
3 + 2 = 4               2 + 2 = 4               5 – 2 = 4                5 – 4 = 3
5 – 1 = 3               3 + 2 = 5               1 + 3 = 5                3 – 1 = 3

3. Doplň správne + alebo -.
 4         2 = 2            3          1 = 4         4          1 = 5     1        3 = 4

4. Rozlož čísla:
              5                      4                      3                      2
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